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HETH & Ut i Y i Ut i i i uE i i i
Ik B 2 & 56,454(43,443(43233| 210| 218| 480|7,392]|1,927|2,994| 184| 424(7,021|1,846( 2,752 34 56| 371 81| 242|1,697| 796 0| 504| 183 214
Ik BB v7 7,194] 5,401 5,385 16 64 9 556 18( 1,146 64 7| 540 18| 1,146 0 2 16 0 0 82 0 0 82 0 0
KiEh 2,840 1,931| 1,931 0 0 10 533 27| 339 0 5| 486 22| 322 0 5 47 5 17 34 0 0 34 0 0
=Gy 2,122 1,490( 1,489 1 9] 52 481 89 1 6 46| 426 84 0 3 6 55 5 1 91 2 0 8 9 72
ZABRM 3,016( 2,696| 2,691 5 14 22 247 37 0 5 16| 222 21 0 9 6 25 16 0 76 39 0 22 15 0
B 1,714{1,032( 1,011 21 25 15 540 98 4 25 10| 489 90 0 0 5 51 8 4 87 17 0 33 7 30
==F= 31} 854 557 557 0 8| 28 206 55 0 8 28| 206 55 0 0 0 0 0 0 0 0 0 0 0 0
EF-r) 526 390( 390 0 8 5 109 14 0 6 101 9 0 2 5 8 5 0 27 0 0 15 12 0
R 710| 557| 545 12 8| 27 108 10 0 6 27 95 10 0 2 0 13 0 0 7 0 0 7 0 0
FEH 1,371] 1,102| 1,102 0 12 3 122 80 52 12 3| 122 80 52 0 0 0 0 0 13 0 0 13 0 0
BT 2,548 2,178 2,175 3 8] 23 270 69 0 8 23| 267 69 0 0 0 3 0 0| 170| 149 0 20 1 0
EEmsEt | 1,385 1,126| 1,126 0 8| 26 771 129 19 8 26 771 129 0 0 0 0 0 19 52 33 0 9 10 0
il 357 1,288| 1,035( 1,032 3 0 8 124 121 0 0 71 110 119 0 0 1 14 2 0 12 0 0 12 0 0
‘BHBRT 3,870( 3,445 3,423 22 6| 21 216 182 0 3 71 208| 174 0 3 14 8 8 0 82 27 0 27 28 0
"R 1,698| 1,238 1,238 0 0 8 365 73 14 0 8| 365 73 14 0 0 0 0 0 18 2 0 16 0 0
R 617 325 325 0 1 30 212 49 0 1 30| 212 49 0 0 0 0 0 0 9 0 0 9 0 0
BafEm 1,603| 975 975 0 3 3 17 1| 604 3 3 17 1| 604 0 0 0 0 0 10 0 0 10 0 0
MeEET 680 550( 550 0 0 4 118 8 0 0 41 117 8 0 0 0 1 0 0 19 0 0 7 3 9
AET 2,498( 2,033( 2,033 0 0 0 291 23| 151 0 0| 291 23| 151 0 0 0 0 0 90 1 0 17 2 0




X 2 hPe S NEFD) (B) + (F) AR (E) ()
fg) Bk TS BEAKES Bk ES ,T{ w |7 | % |2
gﬁwwg%$$§g$$%§w%$$ﬁﬁ§ﬂ12@
. m [ Mk | mEk . mk [ MK | mk . m [ Mk | mk

S AL s s | AL | | AL s s |
METH 4,471| 3,716| 3,590| 126 11 14 531 199 0 11 14| 531 199 0 0 0 0 0 0 81 70 0 11 0 0
Tam 1,013 618 618 0 0 22 271 102 0 0 22 269 97 0 0 0 2 5 0| 237| 142 0 20 0 75
wEm 853| 411 411 0 2 5 382 34 19 2 5| 374 34 19 0 0 8 0 0| 124 90 0 17 17 0
I Fg BT 521| 413| 413 0 0 0 56 52 0 0 0 56 52 0 0 0 0 0 0 20 0 0 4 0 16
SEFNET 433| 294| 294 0 2 1 21 115 0 2 1 21 115 0 0 0 0 0 0 6 0 0 5 1 0
BER 1,494 1,255| 1,255 0 4 8 184 26 17 3 7| 161 26 16 1 1 23 0 1 61 37 0 11 13 0
FFHET 495| 310| 310 0 7 8 145 25 0 1 3] 140 25 0 6 5 5 0 0 10 0 0 10 0 0
B~ [RET 238| 101 101 0 6 2 115 14 0 2 0] 105 13 0 4 2 10 1 0 14 4 0 3 7 0
HFET 1,157 945| 945 0 0 0 0 9] 203 0 0 0 9] 203 0 0 0 0 0 6 0 0 6 0 0
iy 2 HT 471 310 310 0 0 3 44 10| 104 0 1 34 7 0 0 2 10 3| 104 17 8 0 4 5 0
= J\HT 453| 253| 252 1 1 2 84 1 112 1 1 84 1 111 0 1 0 0 1 7 2 0 5 0 0
$EEE I HT 1,464( 1,128/ 1,128 0 4 20 272 40 0 4 20( 264 40 0 0 0 8 0 0 31 0 0 24 7 0
KEFHET 1,163 1,023| 1,023 0 0 27 18 0 95 0 27 17 0 0 0 0 1 0 95 8 0 0 8 0 0
S ERET 1,451(1,248| 1,248 0 4 15 158 22 4 0 14| 148 17 4 4 1 10 5 0 6 0 0 6 0 0
L A BT 751 633| 633 0 1 4 4 0| 109 1 4 4 0| 109 0 0 0 0 0 8 4 0 4 0 0
IRAET 315| 252| 252 0 0 42 11 10 0 0 42 11 10 0 0 0 0 0 0 1 0 0 0 1 0
= e 2221 173 173 0 0 0 45 4 0 0 0 43 4 0 0 0 2 0 0 16 10 0 2 4 0
JII 3BT 160( 113 113 0 2 2 37 5 1 2 2 37 5 1 0 0 0 0 0 8 3 0 5 0 0
+5RET 74 17 17 0 0 4 51 2 0 0 4 51 2 0 0 0 0 0 0 2 0 0 2 0 0
J\EEET 202 68 68 0 0 0 55 79 0 0 0 51 62 0 0 0 4 17 0 28 11 0 1 16 0
=R 1,362( 1,167 1,167 0 0 1 138 56 0 0 1 96 56 0 0 0 42 0 0 65 52 0 6 7 0
EAIF 494| 452| 452 0 0 0 37 5 0 0 0 37 5 0 0 0 0 0 0 21 11 0 1 9 0
EEET 597| 462| 462 0 0 5 104 26 0 0 5! 100 25 0 0 0 4 1 0 27 12 0 7 8 0
I=MIES] 66 20 20 0 0 1 37 8 0 0 1 36 8 0 0 0 1 0 0 14 0 0 1 1 12




